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§15 05015 o
[ r [¢] r =
S e =
» = 2
g [ g [ £
ol Do 2
N14_ 2 S
©
~ c
Sastatgepsantapicostsesingontitnsensifastyetsed >
I I (%)
0.13( 0.005f
0.12-...|...|...|... I T TR RN PP B B B
0 200 400 600 00 200 400 600 OO 200 400 600
Channel Number Channel Number Channel Number
Pi0 Mass (lterationQ)
x10° Entries 3.004626e+08
%00_ X2 / nd1.215e+04 / 165
[ Prob 0
>00F po 9.983e+05
3 pl 0.1345
@00_— p2 0.008156
[ p3 4.211e+05
'(I,)SOO.‘ p4 0.01524
o p5 -2.117e+07
goo-_ p6 5.688e+06
800'_ p7 3.643e+05
1000F
800F , N,

600%

E. 1o by b b by bywn by

0.06 0.08 0.1 0.12 0.14 016 018 0.2
2y Mass (GeV)




Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration
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o/p vs. Iteration (E1, E2 > 500 MeV)
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3Mass Spectum for final iteration (E1

E2 > 500 MeV)
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Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)
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